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Ot 11,880
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-7 2w 1, 7502l %2, 00004 3,500
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202 01t 12,636 10,636 2,000
01 =UH oIt 12,636 10,636 2,000
O=BYD ZHOH| 12,636, 0002 12,636
HE el 85,691 84,887 804
101 Q1 24H| 12,301 12,480 189
04 JIZH22RSES 2,391 12,480 £89
ONLA KBRS LAAOlR 12,391
03 35,2008 * 12 %2552 8,976
o382 35,2008 * 12 +52% 1,831
0INRBEI 35,2009 152 528
SR 35,2009 *302 1,056
201 Y2 ] 39,500 41,907 A2,407
01 AL/t 29,060 41,907 A 12,847
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g W =250 HE 29
el N2 &2 (ctel: &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
Oget=&H| 26,960
o =M 3,565
—NgNgEdEd 35,0003 26 910
— XA A& 65,000& 165 1,040
—XNZAHEE 95,000& *17= 1,615
o NEANE EEEE M 5,195
—Sdi3tE 55,0003 *32] * 1501 & 2,475
—2te 10,0003 *62| * 12JH A 720
—QIM= 2003 x22| 5, 00004 2,000
0NB[IHBUED ABEF ¢ 7,000,000& 7,000
OXILH ROILE ALY Y
2,000, 0002 *5CH 10,000
oXILYAl MEIE HR =2
100& *12,000A 1,200
O =2g=g 2,100
ONER MM ALY
70,0003 +32] 6 1,260
OMNEERYARIRNE FHAY
70,000& 23] 6 840
02 ZE=23H4l 10,440 0 10,440
OAZ&EHl XYl 10,440
0 A HIZ HRHHAIAE RIE
388,750& <123 4,665
ONEHIBE] & DRNMSEI RANE>
481,200& 123 5,775
203 HRF&Hl 2,000 1,800 200
03 AZFXHRFAH] 2,000 1,800 200
OMSPHE AIM =& 2,000,000& 2,000
301 LptEaag 10,400 10,400 0
12 JIEtE243 10,400 10,400 0
OdAGMA € NMEEXZA 2F
50,000& 2% *43] 400
OdadNit 38 7L 10,000& 200 »53] 10,000
303 Loz 2,700 2,700 0
01 Z&3 2,700 2,700 0
ONENRESSRE 2& 50,0003 2% »23| 200
ONSRZEA =& & NFHMeHA Z&3
50,000,000& *5/100 2,500
403 TtXIEMSK=01H 18,700 15,600 3,100
02 SIOI2SOHStCHE At I 18,700 15,600 3,100
[ZMEEAIAE FR2E ALY
18,700,000& * 14! 18,700
NLMEESAIAE THHE AL 5,800 0 5,800
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SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
403 RHXISHH SR =0 5,800 0 5,800
02 2125 0T CH S AF2t bl 5,800 0 5,800
OXLHELAIAL HHLAS 5,800,008 5,800
soist 522l 82,475 74,444 8,031
32 e 49,975 39,644 10,331
101 Q1248 2,391 0 12,391
04 JAM2RIISES 12,391 0 12,391
OSNLRET LAAH OIS 2,391
oYz 35,2002 #12§ x2552 8,976
oRZEY 35,2002 %1% +52% 1,831
ooXRIEY 35,2002 ¥15 528
R 35,2002 %30 1,086
201 Ygreg| 30, 184 32,744 A2,560
01 AtRZ2lt| 30, 184 32,744 A2,560
OsIHBUZE 7Y 10,0002 *6% *102 600
ORINHATE 7Y 25,0008 *3%5+122 900
OZUMRHES X 7Y
10024 %2, 00004 * 122 2,400
OTAHS U AEB2IHBY 2
300,002 *3% 900
ORSHIMI| A S 7
00, 0002 2% *23] 1,200
OYRAYLETARE 7
10,0008 * 105 * 122 1,200
OFSTLAAH(GB)0I8L42
20,000 *50021 0,000
OBINME 28 JtUHl  5,0002*140% +62 OF 4,200
O AZZHANOIARNG ALY
70,0002 +8% *43] 2,240
o3zl 6,544
OSIHYLER OHA] 6,544, 0002 6,544
202 01t 7,400 6,900 500
01 =2Uloibl 7,400 6,900 500
OSNBRDS ATEEA SAEIHALS
o1t 7,400, 0002 7,400
MEHIE 2ot 12,000 16,300 A4,300
201 LByl 12,000 16,300 A4,300
01 AtR2elt] 2,000 16,300 A4,300
O UM L BENTE M
20,0002 xB0 %25 3,200
OZURRENEETY 800,000 *14] 800
OB HZ A A 2T 100, 00021 x4 %202 8,000
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01 ALR eIt 17,500 16,500 1,000
OMSEIA 22t 15,0002 *200%2 3,000
OBIHHMIKE A oI 10,0002 * 1502 1,500
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OMSEIAN DA 2E B
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202 Oit| 3,000 2,000 1,000
01 2hoit] 3,000 2,000 1,000
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ozl 4,696
ONYA H4 ALEX O4AIHI 4,696,000 4,696
2 22| 44,020 0 44,020
O 2B 22 44,020
OMEDNN SBELY  2208%20,00021+83] 35,200
oHMEHE SX 1, 75021 %2,00021 3,500
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ol BE 2

S BB SR (B) - NEAY - BAS 0f & o Soe DB
oo 55,0003 154 *32 2,475
o Y2t 10,000& * 1291 33! 360
ocl=sal 200& x5, 0000H 1,000
O8It 85 ==& 51,159
o &tEIHA 5,808&+8,600= 49,949
o02/AIA 7,260 *50= 363
00120t 16,940 *50= 847
ORSMEIISAS B2
70,0003 *11H +33| 2,310
02 323l 2,500 0 2,500
ORERI(HESXE &5) 2,500
oZER= 250% 10, 0000H 2,500
&Ml S 1t 35,094 33,567 1,527
201 LEt=EH| 27,962 27,435 527
01 AtR2teld] 10,312 27,435 A17,123
OMAA J&tsX 2 3,650
oHMNIXM(SES) 66,0002 *50&F A 3,300
o=WEX 35,0003 108t & 350
OMA&AM 222 NH 2,890
osl+Y 55,000& 1501 <22/ 1,650
o Yztet 10,000 1291 22 240
ocl=sal 200 +5,0000H 1,000
(@F=3={] 3,772
O EMNEIIHER=X IHAHI 3,772,000& 3,772
02 3323l 17,650 0 17,650
OREQI (AN DXIA) 17,650
o g3 2503 +58, 000 0K 14,500
0sJIE=3 1,750& % 1,80004 3,150
202 044 7,132 6,132 1,000
01 =LHOHI 7,132 6,132 1,000
OZAEIIE 228 (bl 7,132,000& 7,132
&b 2te| 5,555,116 4,218,820 1,336,296
SRMa 22| 5,555,116 4,218,820 1,336,296
AL 2t 1,210,829 4,009, 181 N2,798,352
101 el 60,380 2,560 57,820
04 JI2tHZ=2 Xt 60,380 2,560 57,820
OAtR 4 Hte 2 SAHH Q2Y
35,2003 x4 H »20L 2,816
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o XtRE5It 35,200 x1H +15& 528
o &ElX= 35,200 *30 x520 /365 1,505
OFAL &€ MREX 2EY 25,716
oZ= 36,520 x2H 255 18,626
om=5Y 36,5203 x2H «52= 3,799
oG XtRaERIt 36,5203 x2H x15& 1,096
o= RS 36,520 *30 x731 /365 2,195
OZFMA A=A 212 Y 19,008
oZs 35,200 x4 H +105 14,784
om=7Y 35,2003 #4 & »25= 3,520
ORuPNES=2=, 35,2003 x4H «5& 704
201 LEH2HH| 546,695 506,253 40,442
01 AtER22/Hl 29,982 27,192 2,790
Ostda A2F 15,084
o st & Xl 53,0003 #42F A+120H & 2,544
oBHEEI= 38,0002 # 10 Ax1200 = 4,560
o ZBJI&etA 22,000& 14463 1,848
o 2HIIME 22,0003 *21J4+62] 2,772
oNMBEE(S8H+S)
120,000 18t A+1200 & 1,440
OStEA HIY HAES
40,0003 *42F A+120H & 1,920
O&3x A4z 1,300, 000& »23| 2,600
oXgdl S5 7 1,188
o 100L 18,0003 5001200 & 1,080
0 50L 9,000 *10H+120H & 108
OFEAMEL 22F 200,000& 1200 & 2,400
O4=& M= 3 1,000,000& »23! 2,000
Oon=l 1,800
o™AtZte| A= 150,000 & +6H 23] 1,800
O=&l 4,910
oljat2tel AR =& DHAH 4,910,000& 4,910
02 3323l 516,713 479,061 37,652
ONIIL3 183,230
oll2z(gderE 1NgY)
7,330 ~456Kw* 1201 2 40,110
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oggtH 2503 +30S 120 2 90
O&JItEEH =2 994,870 1204 & 11,939
Oagerdg s/l 100, 000& 22| 200
OB A AEAE Y A 1,500,000 1,500
Oo=2gd #JI18E =8 250,000 250
OFMUUHKXN AtE & =5
5,000,000& x12 5,000
odsJl Zd=ita E82 45,000& 45
odsJl At =2 250,000 250
OFEMN =& & S22 A 180,000& 22 360
ONYMESH =IHl 93,956
o Mol =72/ H 37,509,000 37,509
o Z P& 3,989,000& 3,989
oZX=SHA 52,458,000 52,458
(@)eR=d] 62,641
oEMEL 51,638
—=22d S& 510 4 »988& 100 50,388
— = Al 250,000& 5= 1,250
o AE2EU (I, S, JHEE) 3,452
— =4 36 £ 9883 90 3,202
— =Xl 250,000 = 1CH 250
o2dE UIla 22d 1,623
— =4 9883 *1LH*8Al 2t %180 1,423
— = Al 200,000& = 1CH 200
oYt Z 9883 *10CH =10 Al 2+ 60 5,928
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o YStHEH HMOE 0l4 20,000,000 20,000
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oWy |FR ALl 10,000& = 150CH 1,500
O3XJ| =67l 5,000,000& 5,000
Odttgtsg gl Al2dl 1,000,000 »2CH 2,000
202 O4Hl 11,742 10,220 1,522
01 WY 11,742 10,220 1,522
oM % TEBel ASE 11,742
o =B MAt2e| 9,342,000& 9,342
oxXHE2HMEA 2,400,000& 2,400
206 M=l 17,860 15,942 1,918
01 M=H| 17,860 15,942 1,918
Od2g A=U4SF 60,0003 *25 £ 1,500
O=2gy a3 80,0003 x4 2 +5JH = 1,600
OFAHY HAMHMEM 2 3,000, 000& 3,000
O&JINE 7 8,300
oMFA(IIRES, &S S ) 2,000 *5004 1,000
o2t®II(ItE S, &S S)
21,000 *300H 6,300
o JIEt 1,000,000& 1,000
OJIAHEME 7 3,460
o3XJ| cle ¥ ZclZEH ug
40,0003 344! 1,360
oJIEt JIHA ABF 2
150,000& «1200 & 1,800
oEgd] &2 A37Y 300,000& 300
401 Al&HI LS04I 574,152 3,474,206 A2,900,054
01 Al&H| 573,000 3,442,850 A2,869,850
OFA ZOHAAE HE 40,000, 000& 40,000
OFE AL LEDZZE Al WAl 25,000, 000& 25,000
OEAM &EE uH 58,000,000& 58,000
ORIAHEA XSHE SAM 150,000, 000& 150,000
OB MESZI &X 300,000,000& 300,000
03 AIZR0iHl 1,152 11,466 A 10,314
OF A ZOHQ AlE JHEx= 204
40,000,000 *0.90/100 360
OEAMN HdE WA 204
58,000,000 *0.90/100 522
OF A LEDEGE AlH M S A SCHYI
25,000,000 *1.08/100 270
& 2t el 4,344,287 209,639 4,134,648
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201 LBty 119,287 77,139 42,148
01 AFR 22| 54,788 0 54,788
O =237 =&d=2 18,388
o BAHEE 299,200 x10Z X 2,992
odEEH 365,000& «20& X 7,300
o=gY¥=EH 404,800 x20Z X 8,096
ORTRMA LHIIL 242
1,000,000,000& *7/1,000 7,000
O3 +7Y 840& *35,000& 29,400
02 22234l 64,499 77,139 A 12,640
OZNERES 12,199
o Xt= Xt 28,5003 +65CH x23] 3,705
== 683 *62,450m" x23] 8,494
OMMEAZ2(NHSXM, BEZ S8E S) 12,300
o HE8 & 8H(14%5838) 1,300,000 +1CH 1,300
o X =& (507+9600,6552 3005, 1455862)
2,000,000 *3CH 6,000
0 S&(50Lt4176,7941501)  1,200,0002 «2CH 2,400
o0 Y SE(79M1927) 2,600,000 *1CH 2,600
O=rFdl 20,000
o HE &8H(14=5838) 3,000,000 *1CH 3,000
o A& (507t9600,65523005, 145=5862)
3,000,000& *3CH 9,000
0 S&(50Lt4176,79411501)  2,000,0002 *2CH 4,000
0 EESE(79M41927) 4,000,000 *1CH 4,000
Oxtg SAZeldl 16,000
o H& & 8H(1455838) 2,000,000 «1CH 2,000
o X =& (507+9600,652 3005, 1455862)
2,000,000 *3CH 6,000
0 &£8(50Lt4176,79411501) 2,500,000 *2CH 5,000
o0 Y SEH(79M1927) 3,000,000 = 1CH 3,000
O=, M g2l 2,000,000& 2= 4,000
401 A &HIL 2048 4,050,000 0 4,050,000
01 Al&H| 4,050,000 0 4,050,000
OAHEIIAMU X 1 600,000, 000& 600,000
ONEES2EL 22X Y 300,000,000& 300,000
OA&EH FAL =HEX 0H 350,000,000& 350,000
OAX=OE =H 22X ML (KA
2,500,000,000& 2,500,000
OXtdiol2 27X 300,000,000& 300,000
405 KH&HFSHI 175,000 132,500 42,500
01 XL SSFSHI 175,000 132,500 42,500
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S THaE 2tel

ool BRMA B (S5l &2
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 il b o B2
OSEZ BN ITY 18,000
o2t 2,500,000 *3CH 7,500
0 2a )] 3,500,000 *3CH 0,500
OXgRY 137,000
oBEIH(SH) 21,000, 0002 *2CH 42,000
oJtRSHE X 49,000,000 1H 49,000
0SB EH) 46,000,0002 *1CH 46,000
OARA I 20,000,002 20,000
HHSAAY (W2 81,646 89,932 78,286
o= 2l 58,246 64,732 76,486
[T 58,246 64,732 76,486
201 L2y 33,046 39,532 76,486
01 At 2ty 33,046 39,532 6,486
ONSEE 7Y 3,500,000% 3,500
oI Y SN 1,206
0 ZHTRIE )| 7,200,00024 7,200
oZeERED] 1,756,0002 1,756
CTREEINARE 1,125,0002 {,125
0= ADIEY 1,125,002 1,125
O=SMEX 7Y 6,000,000% 6,000
outgrsg 840,0002! 840
O Zs=29| 7,500,00024 7,500
o3zl 4,000
OBOIADEX(BE) WAL 4,000,000 4,000
202 OiH| 25,200 25,200 0
01 2UhoiH| 25,200 25,200 0
SERIEEESHIET) 25,200,002 25,200
oz 2| 23,400 25,200 A1,800
o121 23,400 25,200 A1,800
204 X242yl 23,400 25,200 A1,800
03 SR+ 23,400 25,200 A1,800
OMLYR 48 S| 23,400
oNRYRY 100, 0002 * 1424 122 16,800
oNerREy 50,0002 x2 « 122 1,200
SENESI== 100,0002 x223 122 2,400
o THArBRI g 50,0002 *5% * 128 3,000
HRES (LD 121,000 124,000 23,000
SIS 121,000 124,000 3,000
SARA A UE HUS L OIX AE 121,000 124,000 3,000
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HH: NHRES(HR)
thel: E8XE

S HE - S(EH) - NRAY - BES Of) &t o4 S
0f 4 o
311 Xt =0l Xk&f e 21,000 24,000
06 JIEFX =0l AH&te 21,000 24,000
OB AMBHIX S0l X4 EH3EIXI)
700,000,000& *0.03 21,000
601 XS Sake 100,000 100,000
06 JIEI=Z2UHXE S saE 100,000 100,000
OEAMEHIXIL S & 100,000, 000& 100,000
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